Monday 15 June 2020

L.O. Lo count in multiples of ten.
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Complete the missing numbers on the hundred square.

1

2

3

4

5

6

7

9

11

12

13

14

15

16

17

18

19

2]

22

23

24

25

26

27

28

29

31

32

33

34

35

36

37

38

39

41

42

43

44

45

46

47

48

49

51

52

53

54

99

56

57

58

59

61

62

63

64

65

66

67

68

69

71

72

73

74

75

76

77

78

79

81

82

83

84

85

86

87

88

89

1

92

93

94

95

96

97

98

99

Discuss: What pattern do iyou notice
abhout the nuumhers in the ten times tahles?

We shouwld learn to count in tens hecauwse
j,tj/s,,al,o,ti,a&,ter,to,cowl,t,thz,to,tal,of
Larger A and it is guicker than
counting in I's.




How many eggs are there?

There are eggs in each box.
There are E boxes.

There are @ eggs altogether.






Start at a new number
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If one packet of seeds has 10 seeds, how many seeds do 5 packets
of seeds have?




If one box holds 10 toys, circle the boxes you need to hold 60 toys.
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Complete the sequence to find the missing numbers.
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Label the missing numbetrs on the number line.




Lea is counting in 10s starting from 10.
She thinks she will land on the number 44.

123456789.
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s she correct? Explain




Suki thinks the arrow is pointing to 40.

s she correct? Explain how you know.




Worksheet for todays
lesson is awv.ailable in
links wnder ‘Mondays
Worksheet .



Juesday 24 June 2020

L.O. To .mare equal groups.
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Spot the multiples of

5
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What do multiples
of 2 end in?

What do multiples
of 5 end in?

What do multiples
of 10 end in?




True or false?
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There are 3 groups of 3 marbles.







How many more flowers must you add to the blue vase so that all
the groups are equal?




Which group is not equal to the others?
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Can you make these groups below equal?




Explain your answer.

w)
Q.
>
O
S
O
d
>
O
@
o~
)
~x
O
S
)
< o
c 0
5%
»
)
X
O
O
Q.
=
O
]
]
w
O
=
S
O
]




Worksheet for todoys
lesson is owvailable in
links wunder ‘Tuesdoys

Wo.r "



Wednesday 3+ June 2020




Can you make equal groups?
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Can you describe how these carrots are grouped?

V99

There are 1 o rcpe of 3
There re 3/ equa roups of 4



Worksheet for todays
lesson is available in
links under ‘Wednesdays

W.o.r ¢



Thursday 4 June 2020

L.O. To add equal groups.
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There are groups of shells.
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There are groups of jewels.
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There are groups of ducks.




Which number line matches the chicks?

12 13 14 15

12 13 14 15




How many wheels on 5§ scooters?
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Which cubes match the calculation?




There are 10 fishes in each tank.

True or false?

There are 20 fishes altogether.



Draw spots on the butterflies to represent the calculation on the
number line.
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Complete the number sentence to maich.
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Jamie has 5 jars. He puts 5 sweets in each jar.

How many sweets does he have altogether?
Show your working.




Maggie and Kyle have been counting in 10s starting from 10.

All of my numbers will be
odd numbers.

Kyle

" All of my numbers will end in E ‘
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Who is correct? Explain your answer.




Look at the Numicon and the number sentences below.

5

10+10+10=20 S+5+5=20

Find and correct any mistakes.




Worksheet for todays
lesson is awv.ailable in
links wunder ‘Thursdoys
Worksheek .



Friday 5% June 2020
L.0. To add equal
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There are [ 3 |flowers in each vase.

Thonmmm
There are [4 ] equal groups of [3]
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There are [3 ] flowers in each vase.
Thu'ommm
Thu-ommoq:dgrmof m







BOBBSY

"mﬂljwdmof[l

2]+ [2]+[2]+[2]+ [2]+[2]=[]
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[6]+[6]+ [6]+[6]=]




Worksheet for todoys lesson
‘Friday.s Worksheet'



